


PRONUNCIATION DRILL

• A WOLF                                     A BEAR 

• A FOX                                       A HARE

• A FOREST                                  THERE 

THERE IS  

THERE ARE





THERE IS A WOLF IN THE FOREST.

THERE ARE TWO BEARS IN THE FOREST.

There … a fox,  five tigers, a giraffe at the Zoo.



FILL IN THE GAPS WITH IS OR ARE

•THERE … A FOX IN THE FOREST.

•THERE … TWO TIGERS AT THE ZOO.

•THERE … FOUR PANDAS AT THE ZOO.

•THERE … A HARE IN THE FOREST.

•THERE … FIVE CATS IN THE FOREST.



ANSWERS

•There is a fox in the forest.

•There are two tigers at the Zoo.

•There are four pandas at the Zoo.

•There is a hare in the forest.

•There are five cats in the forest.





There is a hare in the forest.

There are two tigers at the Zoo.





ПРОДОЛЖИТЕ ФРАЗУ:

• СЕГОДНЯ Я УЗНАЛ…

• ТЕПЕРЬ Я МОГУ…

• МНЕ БЫЛО ИНТЕРЕСНО…

• У МЕНЯ (НЕ) ПОЛУЧИЛОСЬ…

• МНЕ (НЕ) ПОНРАВИЛОСЬ…




